OEFENTOETS
1. Los de oefeningen op. Je 

· 5 x (9+3) = 

· (6x4) – 3 =

· 9 x (4x1) = 

· (2x4) x 7 = 

· (2x2) x 5 =

· 3 x (10:2) = 

· 4 x (10-6) =

· (100x2) : 20 =

· (54:6) x 2=

· (2x6) + (3x3)=

· (4x9) + 8 =

· 3x (30-10) =

· 100 : (15-5) =

· 6 x (3+3) =

· (3+94) – 18 =

· (5x12) : 10 =


mag je rekenmachine gebruiken.

· 7 x (7+2) =

· (24-18) x 4 =

· 40 : (3+7) = 

· (3x10) x 9 =

· 100: (9+1) =

· 60 : (10+10) =

· 90 : (5+10) =

· (8x7) + (2-2) =

· (9x4) – (5:5) =

· (9-5) : 4 =

· 90 : (4+6) -5 =

· 80 : (3+5+2) =

· (2+70) – 36 =

· (70:10) + 26 =

· (3+15) - (5x2) =

· [bookmark: _GoBack](6x9) : (3:0)=

